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Revised Answer Keys

| |
| SeriesA |
‘ Question No. H Correct Option H Question No. || Correct Option ‘
| 01 | B | 21 | C |
| 02 | A | 22 | D |
| 03 | D | 23 | A |
| 04 | A | 24 | C |
| 05 | A | 25 | B |
| 06 | C | 26 | C |
| 07 | B | 27 | C |
| 08 | D | 28 | A |
| 09 | C | 29 | B |
| 10 | C | 30 | B |
| 11 H B | 31 | D |
| 12 | A | 32 | D |
| 13 | D | 33 | B |
14 * 34 A
| 15 | B | 35 | D |
| 16 | B | 36 | A |
| 17 | B | 37 | D |
18 * 38 C
| 19 | B | 39 | A |
| 20 | D | 40 | D |
NOTE :

1.
2.

ANSWER MARKED IN GREEN COLOUR IS REVISED ANSWER.
QUESTION OMITTED FOR EVALUATION




